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).  (  l1,2,  -
T1,2)  k=1,2,., N1  q= 1,2..
N2. -

 N  ukq(t). -

 ukq(t) -
, -

 ( . 1).

-
kq>0   2kq<0

, , 
-

; 
. -

. . 1 

, 
. .2 -

-
 –  « -

».
,  t=t0  ( )

t=t0  k  q 
,  [1]

ukq(t0-0)=-ukq(t)(t0+0)<0, ukq(t0)= 1kq>0; ukq(t0-0)=-ukq(t)(t0+0)>0, ukq(t)= 2kq<0; kq ukq(t) 2kq. (1)

, 
 [1], -

 kq(t) 
.  <  kq  rs >=2S  kq  rs  (t – t/);

 kq,   rs –  (k, q =1,2,.. N1; r,
s=1,2,.. N2); t - . , 

 ukq(t) , -
, , -

, -
,

, 
-

. 
, 

N :

mukq+bukq+c1(2ukq-u(k-1,q)-u(k+1,q))+c2(2ukq-u(k,q-1)-u(k,q+1)) =  kq(t); (2)

: 1,2 =T1,2 l1,2–  b – -
.  ukq=0,  k=0;(N1+1)  q=0;(N2+1) [1].

 (2) H(ukq;ykq)
(ukq; ykq)= ½y2

kq+½ 1(uk1 - uk,N2)2+  c2(u1q -uN1,q)2+
(k, q) (k) (q)

+ 2(ukq-uk,(q-1))2+  c1(u1q-uN1,q)2]+……., (3)
(k=2) (q=2)

 ykq ukqt.  m=1, -
 - (ykq,ukq).

2.  [1]. -
,  2N –  p(ukq,ykq); 

 (1) [1]:
[{ ,p}kq - b / ykq(ykqp) ½S 2p/ y2

kq] = 0, (4)
(k, q)

,p}kq H( / ykq)( p /ukq)- H( / ukq)( p /
ykq) – . -

 (4)  (1).
 p(ukq(t);ykq(t))  2N (N=N1N2) -

,  (4) 
, -

 [1], : p(ukq;ykq)=Cexp{-
(2b/S)[H(ukq;ykq)]}, ukq X={ukq 1kq ukq(t)
2kq},  – . 

(4) .
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